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= o g =S( 4) = M M ECHH
B2E=) Wartd | ®and | S¥% | HE
Ark(171/300~3509) 2,109 2,189 80 -3.64%
Hi (17H/650~700g) 3,645 3,936 291 -7.39%
2(171/1kg) 1,387 1,491 104 -6.98%
Hi 2= (12 7| /3kg) 3,799 3,919 120 -3.06%
CHitH(15/S/1kg/2E 7HA) 2,655 2,705 50 -1.85%
20|(37H) 3,381 3,629 248 -6.83%
K| 27| (= 4t/ 4 4/6009) 14,334 14,604 270 -1.85%
SET= SE71(10F2] /1kg) 7,026 6,744 282 4.18%
(16E5) A D 7|(=Z /=7 HE LK /1S 40,156 43,516 3,360 -7.72%
2| 07| (= &i4t/LAZH[/6009) 25,827 27,113 1,286 -4.74%
= Z(1E/C 2H/307H) 6,634 6,556 78 1.19%
Z7|(10t2| /= 4t/15cm) 2,034 1,528 507 33.19%
ZX|(10t2]|/=4H/80ecm) 8,670 7,828 842 10.76%
D@ 0rE|/=4F/30cm) 3,691 3,507 184 5.25%
HEf(10r2]/2H A|OFLF/40¢m) 3,907 3,949 42 -1.07%
Qd0j(10t2|/3-=/30cm) 4,686 4,149 537 12.94%
A (20kg) 58,710 58,910 200 -0.34%
2|2 = 4/1kg) 3,227 3,293 66 -2.00%
LIt (1kg) 1,837 1,990 153 -7.69%
7tOHS (1kg) 11,186 9,819 1,367 13.92%
A 7tF (58 =/1kg) 1,654 1,609 45 2.80%
2 ((152/300g/3 At +W1| 1,143 1,213 70 -5.77%
M= A2218L/27|E 6,791 6,365 426 6.69%
(1453) e 360m2/*DH7.§) 1,429 1,301 128 9.84%
O 2= (19 500me/A 01 ) 1,500 1,490 10 0.67%
A (1Y 360me/2] Al 4,000 4,000 =3t
I3H’<(1 B 500me/2| &) 4,000 4,000 =23t
3|22 (L) 1,867 1,687 181 10.71%
ZL(1L) 1,714 1,510 204 13.49%
S(1L) 1,265 1,146 119 10.34%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




